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Exercise One

Partl Reading Comprehension (2.5X16 = 40 points)

Directions: There are 16 questions or uncompleted statements in this part. Each of them has
4 choices marked A), B), C) and D). Choose the best answer to each of them

according to the passages of Part A, Part Bl and Part Bll in Unit One of the
textbook.

Questions 1 — 6 are based on the passage in Part A.

I. Cambridge can be described as a university town because
A) the size of Cambridge is just as big as the town
B) the university buildings fit in well with the rest of the town
C) the separating line between the university and the town is not clear

D) the university has shops, pubs, banks and churches as a town does

2. The college system of Cambridge was formed
A) to provide lodgings to the students whose families were out of the town
B) to make it possible for the students to spend less money on lodgings
C) to begin the reform of the educational system in England

D) to enable the university to continue up to the present time

3. It is possible for the college studentsto .
A) live in college for their final year of the course
B) have all the meals outside the college each week
C) ride bikes on campus if they can’t afford to buy cars
D) see their tutors whenever they have problems

4. Why is it said that every student is a member of the college from the beginning?
A) Because he has most of his meals in the college hall every week.
B) Because he lives in his college from beginning to end.

C) Because his social and sports life is centered on his college.
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D) Because he does not join any university clubs or societies.

5. The phrase “full term” means the time when the university
A) is fully engaged in teaching
B) is beginning its term work
C) is full of students and graduates
D) is completely in its term’s work

6. People find it hard to drive through Cambridge at five minutes to the hour in the
morning because of
A) the large numbers of cars in the streets
B) the safety checks on traffic at that time
C) the speed limit to both cars and bikes

D) the streams of bikes going in all directions

Questions 7 — 11 are based on the passage in Part BL

7. From the passage “Oxford” we know that Oxford University .
A) has fewer students than Cambridge
B) is not as big and old as Cambridge
C) was founded in the 13th century
D) set its first college in the mid-13th century

8. The passage says that .
A) women students don’t have the same opportunities as their male fellows
B) women couldn’t study in most colleges in Oxford until last century
C) Lady Margret Hall was founded specially for women students
D) Oxford began to accept women students at the end of the 18th century

9. Private colleges
A) usually offer easier courses than Oxford
B) are set up for foreign students
C) are difficult to enroll, too
D) charge students less than Oxford
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What was NOT mentioned in the passage about Oxford?
A) Its history.

B) Its location.

C) Its colleges.

D) Its architecture.

Many students want to study at Oxford mainly because .
A) it has a four-hundred-year old library

B) it has beautiful gardens and buildings

C) it gives the students everything they need

D) it offers first-class education

Questions 12 — 16 are based on the passage in Part BII.

12.

13.

14.

15.

What is the subject of the passage ?

A) The beginning of a new term at the Polytechnic.

B) The students and graduates of Earls Court Polytechnic.
C) The Principal’s address to the students in the hall.

D) The brief history and organization of the Polytechnic.

The main idea of Paragraph 2 is that __ .

A) the students did not expect to see the notice at the entrance hall
B) new students assembled in the hall to listen to some talks

C) the hall was hardly large enough to seat so many people

D) Arthur was late for the talk given by the principal

Which of the following is NOT discussed in the Principal’s address?
A) His delight and hope to the students.

B) The brief history and system of the Polytechnic.

C) The main activities of the Students” Union.

D) His advice on what the students should do and should not do.

Instead of having lunch at school Arthur made his way to a small café because

A) he saw many other students going there
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B) he did not feel like lunch but just wanted some coffee
C) he felt rather tired after standing in a long queue to fill in the form

D) he did not like to queue again and wanted some better food

16. It can be inferred from the passage that .
A) Earts Courts Polytechnic is large in size
B) the 23rd of Sept. is a busy day at the Polytechnic
C) Arthur will buy all the books which the tutor suggested
D) Arthur will surely profit from his study at the Polytechnic

Part Il Vocabulary and Structure (1X40 = 40 points)

Directions: There are 40 incomplete sentences in this part. For each sentence there are 4
choices marked A), B), C) and D). Choose the ONE that best completes the

w

sentence.

1. We need to get support of someone in

A}y authority B) club
C) union D) government

2. Jane was presented with the of the office at the meeting.
A) tutor B) graduate
C) principal ~ID) staff

3. We must consider our real conditions, not ones.
A) future ~B) imaginary
C) desired D) good

4. I don’t know how he can a new car on his small income.
A)add B) use
©) afford D) apply

+ 5. Jobs are hard to find, but in his that’s not the problem because he has so much

experience.
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A\) case B) condition
C) union D) system
6. Jane spoke about her travels, on the time she had spent in India.
A) filling B) talking
C) meaning D) centering
7. Mrs Brown left a large sum of money in her will to a hospital in her
hometown.
A) continue B) join
C) afford Q} found
8. This year we are testing a new control
A) source BJ system
C) faculty _ D) cafe
9. The river has its in the forests high up the mountain-side.
A) end B) place
C) source D) lodging
10. Much of Peter’s life was with his local friends from the boxing club.
A) imaginary B) social v
C) learning D) study

11. The Department of Chemistry is part of the Science .

A) Faculty , B) Union
C) Chub D) System
12. Happiness was the most gift he could have given to his children.
A) precious. B) pretty
C) interesting D) necessary

13. This was the beginning of the market system which has continued the present day.
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A) in between B) all over
C) out of D)upto
14. There was a little trouble but things were soon quiet.
A) at times B) at first
C) at last D) at once
15. The students in this class are hard working clever.
A) as good B) as good as
C) as well D) as well as
16. I decided to study at Cambridge for r€asons.
A) a great amount of B) a great deal of
C) a great bit of \D) a great number of
17. After work she with a cup of tea and newspapers.
A) stopped served
\(\Z)/élaxed D) remained
18. All human beings are much more than animals.
A) important Qj intelligent
C) valuable D) precious
19. The/re is a very friendly in our office.
AYatmosphere B) condition
C) architecture D) painting
£20. The paintings were gathered from museums and sources.
~
blic B) valuable
C) academic D) private
21. Shall we * with the plan as agreed?

A) proceed B) fill
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C) prepare D) present
22. 1 hope you will keep us of how you are getting on with the work.
A) made B informed
\Cyinvolved D) meant
23. 1 don’t know what anyone else thinks, but my opinion is that the students
should be doing more work outside the classroom.
A) private B) present
\C)/bersonal D) own
24. John certainly from the two years he spent in that company.
A) registered B) learned
C) prized ~ D) profited
Y
25. The President of the university gave a brief of the history of the university.
A) activity B) timetable
~.C) outline D) source
26. The four men yere all in carrying out the murder.
A,Fjoir\eg B} involved %\
C) shared D) queued
27. Mrs. Brown is the names of the first year children.
A) looking B) allowing
C) meaning D\)/'fegistering

28. The company has suffered from several years of bad

A) enfrance B) activity
C)‘,r'nanagement D) department
'29. When the concert was over we home.

\A)ﬁ‘lade our way B) went the way
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C) gave our way D) led the way
30. As Marie read the poem, her eyes were tears.
A) full with filled with
) fullin D) filled in
31. The theatre was in 1720, but rebuilt in 1842.
A) found B) finding
\Q)/founded D) founding
32.1 should very much like to go to th(F party, but .
A) I do not invite R) I have not been invited
C) I was not inviting D) 1 will not be invited
33. Do you know how the war 7
A) wins B) won
C) was won D) had been won
34. The work by the time you get there,
\é» will have been done B) is done
C) had been done D) would have done
35. This problem by the school authorities soon.
A) has been discussed B) will have been discussed
() is discussed D). is going to be discussed
36. The children many times not near the lake.
,ﬁ tell ... go B) have told ... to go
-.C) have been told ... to go D) have been told ... going

37. When visiting a foreign country, I sometimes found it difficult
-4) to make myself understood

B) to make others understand myself
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C) to make myself understand
D) making others understand me
38. John Smith, as well as the other students, how to take photos.
A) were learned B) was learned
C2 1s learning D) are learning
39. The number of students in a foreign language class usually limited to no more
than thirty people.
A) have B) are
C)is D) will be
40. A large number of machines for factories.
A) is providing B) are providing
C) is provided D) are provided

Part II1 Cloze (2 X 10 = 20 points)

Directions: There are 10 blanks in the following passage. For each blank there are 4 choices
marked A), B}, C) and D). Choose the ONE that best fits into the blank.

A small village school is soon to celebrate (JK#%) its 110th birthday. Two years ago
it seemed (1) to close but parents and other villagers fought the local education
and (2) _ money to keep it open. It‘ig now (3)  its first term as a school
(4) ____ by the village community ($1[X) and the villagers are justly (5) __ of their
achievement.

They were angry when education chiefs tried to make them send the village
children to other schools (6) _ away because the number of pupiis at the village
school was too small. The villagers started a huge campaign (G2 /) to raise money. They
collected enough to (7) __ a teacher and began to help (8) _ school cleaning,
lunch supervision and lessons. Now the school (9)  well and it seems (10) it

will continue to run in the future.



